1.

MANTIK

A1=4 ve B1=6ise 4,

A2=A1+B1=4+6=1O
B,=A,B,=4.6=24o0lur.
A,=10 ve B,=24icin
A, = Okek(A,, B,) = Okek(10, 24) = 120
B, = Obeb(A,, B,) = Obeb(10, 24) =2
A,=A,+B,=120+2=122olur.

A,=A B,.C, =3.3.3" = 3
B2 - (A1)2.(B1)2.(C1)2 = 32x‘32y_322 - 32x+2y+22

A =A B =3z 32x+2y+2z — 33x+3y+32
3 272 T ) -

O halde

Cevap: C

321 = 33x+3y+3z

21 =3x+3y +3z =
21=3(x+y+2) E
X+Yy+z=7olur é

Cevap:ij}0

£ 5.
=
=
.
Cevap: C
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Toplar serbest birakildiginda

Sirasiyla B, C, A pimleri ¢ekilmistir.
Cevap: B

Sirasiyla B, C, D, A pimleri ¢ekilirse

N )
3. 6.7 1.

= 8+11+12+2=33olur.
Cevap: B




